y
docmynnuie

~ PeweHus

@B

TWUM B5 63 71 80 90 100-112 132 160 180 200 225 250 280
A (+0/-1) 23 30 40 50 60 80 110 110 110 140 140 140
A1 25 31 41 51 61 81 111 111 111 141 141 141
@B (+/-1) 140 160 200 200 250 300 350 350 400 448 550 550
ZIB1 (+/-1) 140 160 200 200 250 300 350 350 400 450 550 550
ZC (h8) 95 110 130 130 180 230 250 250 300 350 450 450
@IC1 (H8) 95 110 130 130 180 230 250 250 300 350 450 450
2D 116 14 j6 19j6 246 28 j6 38 k6 42 k6 48 k6 55 mé 60 m6 65 mé 75 mB
@D1 (E6) 11 14 19 24 28 38 42 48 55 60 65 75
d M4X10 | M4X10 | MeX20 | M&6X20 | MBX20 | M10X25 | M10X25 | M20X30 | M20X30 | M20X30 | M20X30 | M20X30
E 35 3.5 3,5 3.5 4 4 5 5 5 5 5 5
E1 4 4 4,15 4,15 5 5,5 S5 6 6 8 8 8
F 10 10 12 12 14 18 18 21 21 21 26 26
G 169,5 176,5 207 217 236,5 2775 309.5 366,5 366.5 396,5 378,5 378,5
H 185 185 215 215 240 265 265 282 282 282 328 328
H1 205 205 230 230 255 290 290 320 320 320 - =
%] 125 125 125 125 125 125 125 125 125 125 125 125
L 168 175 236 246 276 322 352 410 410 440 4350 450
M 145 145 196 196 216 242 242 300 300 300 310 310
N 115 130 165 165 215 265 300 300 350 400 500 500
| ©@N1 115 130 165 165 215 265 300 300 350 400 500 500
o 205 205 250 250 305 355 399 370 370 370 - -
2P 9.5 9,5 11,5 11,5 14,5 14.5 18 18 18 18 18 18
@P1 M8X16 | M8X16 | M10X18 | M10X18 | M12X18 | M12X18 | M16X21 M16 M16 n“8XM16 | n°8XM16 | n°8XM16
Q 1XM20 | 1XM20 | 1XM20 | 1XM20 | 1XM20 | 1XM20 | 1XM20 | 1XM20 | 1XM20 | 1XM20 | 1XM20 | 1XM20
X = 5 6 8 8 10 12 14 16 18 18 20
X1 4 5 6 8 8 10 12 14 16 18 18 20
Y 4 3 6 T i 3 8 9 10 11 11 12
Z 12,5 16 21.5 2% 31 41 45 51.5 59 64 69 79.5
Z1(+0,1/-0)| 128 16,3 21,8 27,3 31.3 41.4 454 51,9 59,4 64.4 69,4 49,9




Bepcus B5-B14

TAN B14 63 71 80 90 100-112 | 132
A (+0/-1) 23 30 40 50 80 80
A1 25 31 41 51 61 81
@B (+-1) 90 105 120 140 160 200
@B1 (+-1) | 140 160 200 200 250 300
@C (h8) 60 70 80 95 110 130
@C1 (H8) 95 110 130 130 180 230
7D 116 146 196 246 286 38 k&
@D1 (ES) 11 14 19 24 28 38
d M4x10 | M4x10 | MBX20 | MBX20 | M8X20 | M10X25
E 25 25 3 3 35 35
E1 4 4 415 415 5 55
F 10 10 12 12 14 18
G 169,5 176,5 207 217 236,5 277.,5
H 185 185 215 215 240 265
H1 205 205 230 230 255 290
] 125 125 125 125 125 125
L 168 175 236 246 276 322
M 145 145 196 196 216 242
@N 75 85 100 115 130 165
N1 115 130 165 165 215 265
o 205 205 250 250 305 355
@P M5 M6 M6 M8 M8 M10
P1 M8X16 | M8X16 | M10X18 | M10X18 | M12X18 | M12X18
Q 1XM20 | 1XM20 | 1XM20 | 1XM20 | 1XM20 | 1XM20
X 4 5 5 8 8 10
X1 4 5 6 8 8 10
Y 4 5 6 7 7 8
Z 12,5 16 215 27 31 41
Z1(+0,1/-0)] 128 16,3 21,8 27.3 31,3 41,4




Bepcuun B5-3akpbiTas

TWM B5 SP 63 71 80 90 100-112 132 160 180 200 225 250 280
| A1 25 31 41 51 81 81 111 111 111 142 142 142
B (+/-1) 100 100 115 115 155 200 200 320 320 330 400 400
[~ ZB1 (h8) 140 160 200 200 250 300 350 350 400 450 550 550
£ZIC1 (H8) 95 110 130 130 180 230 250 250 300 350 450 450
ZD1 (E6) 11 14 19 24 28 38 42 48 55 60 65 75
E1 4 4 4,15 4,15 3 5:5 9:9 B8 B8 8 8 8
G 151,5 15,5 172 172 181,5 202,5 204,5 261,5 261,5 261,5 243,5 243,5
H 185 185 215 215 240 265 265 282 282 282 328 328
H1 205 205 230 230 255 290 290 320 320 320 - =
%]} 125 125 125 125 125 125 125 125 125 125 125 125
M 150 150 201 201 221 247 247 305 305 305 315 315
N 80 80 90 90 130 174 170 290 290 300 370 370
N1 115 130 165 165 215 265 300 300 350 400 500 500
0 205 205 250 250 305 355 355 370 370 370 - -
P M8 M8 M10 M10 M12 M12 M16 M16 M16 M16 M16 M16
@P1 MBX16 | M8X16 | M10X18 | M10X18 | M12X18 | M12X18 | M16X21 M16 M16 n°8XM16 [ n°8XM16 [ n°8XM16
Q 1XM20 | 1XM20 | 1XM20 | 1XM20 | 1XM20 | 1XM20 | 1XM20 | 1XM20 [ 1XM20 | 1XM20 [ 1XM20 | 1XM20
X 4 5 6 8 8 10 12 14 16 18 18 20
X1 4 5 6 8 8 10 12 14 16 18 18 20
Y 4 5 6 7 i 8 8 8 10 11 11 12
Zz 12,5 16 21,5 27 31 41 45 51,5 59 64 69 79,5
Z1(+0,1/-0) 12,8 16,3 21,8 27.3 31,3 41,4 45,4 51.9 59.4 64,4 69,4 499




